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展開 公式１ 練習問題 解答編

Ⅰ．次の式を展開しなさい。

① （x＋２)(x＋３） ＝ x2 ＋ ５ x＋ ６

② （x＋５)(x＋３） ＝ x2 ＋ ８ x＋１５

③ （x＋７)(x＋４） ＝ x2 ＋１１ x＋２８

④ （x－２)(x＋５） ＝ x2 ＋ ３ x－１０

⑤ （x＋２)(x＋５） ＝ x2 ＋ ７ x＋１０

⑥ （x－２)(x－５） ＝ x2 ー ７ x＋１０

⑦ （x＋２)(x－５） ＝ x2 ー ３ x－１０

⑧ （x－３)(x－１） ＝ x2 ー ４ x＋ ３

⑨ （x－１)(x＋３） ＝ x2 ＋ ２ xー ３

⑩ （x－８)(x＋６） ＝ x2 ー ２ x－４８

Ⅱ．次の式を展開しなさい。

① （x＋４)(x＋３） ＝ x2 ＋ ７ x＋１２

② （x＋５)(x＋１） ＝ x2 ＋ ６ x＋ ５

③ （x＋９)(x＋４） ＝ x2 ＋１３ x＋３６

④ （x－２)(x＋６） ＝ x2 ＋ ４ x－１２

⑤ （x＋３)(xー５） ＝ x2 ー ２ x－１５

⑥ （x－３)(x－５） ＝ x2 ー ８ x＋１５

⑦ （x＋３)(x－５） ＝ x2 ー ２ x－１５

⑧ （x－３)(x＋５） ＝ x2 ＋ ２ x－１５

⑨ （x－１)(x＋８） ＝ x2 ＋ ７ xー ８

⑩ （x－７)(x＋６） ＝ x2 ー xー４２

Ⅲ．次の式を展開しなさい。

① （x－２１)(x－１０）＝ x2 ー３１ x＋２１０

② （y－３)(y－１３） ＝ y2 ー１６ y＋３９

③ （y－８)(y＋３） ＝ y2 ー ５ y－２４

④ （a－５)(a－３） ＝ a2 － ８ a＋１５

⑤ （x－７)(x＋４） ＝ x2 ー ３ x－２８

⑥ （x－３)(x－３） ＝ x2 ー ６ x＋ ９

⑦ （x＋３)(x＋３） ＝ x2 ＋ ６ x＋ ９

⑧ （x－３)(x＋３） ＝ x2 ー ９

⑨ （x－５)(x＋５） ＝ x2 －２５

⑩ （x－７)(x－７） ＝ x2 －１４ x＋４９

Ⅳ．次の式を展開しなさい。

① （m－２)(m＋１） ＝m2 ー m－２

② （x－１１)(x＋５） ＝ x2 ー ６ x－５５

③ （x－２０)(x－５） ＝ x2 －２５ x＋１００

④ （y＋２)(y－１５） ＝ y2 －１３ y－３０

⑤ （x＋８)(x－４） ＝ x2 ＋ ４ x－３２

⑥ （x－７)(x＋３） ＝ x2 ー ４ x－２１

⑦ （x＋５)(x－４） ＝ x2 ＋ x－２０

⑧ （x－３)(x＋４） ＝ x2 ＋ x－１２

⑨ （x－２)(x－３） ＝ x2 ー ５ x＋ ６

⑩ （x＋６)(x＋６） ＝ x2 ＋１２ x＋３６


